6.34=6+0.3+0.04

9.31 = |+ |+ |
@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01




2. &
S AR A 22799 S o

A
25 S A2 AR

D4@307@5® 9YYct




3.

2 oA 1.3 3 27171 B2 AgE ol AU

® 103 @130 © 103

@13 ®13 ® 10344t}

@ 13.0 ® 1.030
447 ofdf B A4elo] 02 AT 4 U
A47 ot & #e19] 02 AFete] Lehyn




048 ]-058-063-] |-073

@ 0.5,0.65 @ 0.51,0.66 ® 0.52,0.66
@)0.53,0.68 ® 0.53,0.69

0.63 — 0.58 = 0.05 &4 Lojgdytt
AR [ ]=0.48+0.05 = 0.53

FRAA [ ]=0.63+0.05=0.68




0 0.1 0.20.3 040506070809 1

08-04=] |

0 0.1 0,203 040506070809 1

]

1-0.7

® (1)1.2(2) 0.3

@ (1)04(2) 1.7

@) 042 03

® (1)12(2) 1.7

@ (1)12(2) 05

0.4

(1)0.8-04

(2)1-07=0.3




o

of 4] A7 5,

P

5 2N Q.
=
| — ]

>
> A 51.638

Qo] Ae] 2247} 1, 2% A A2 £ 6,

T =4 A= A7 4, a5 AR AR 2278 ]l e EE 0.01
O

50 + 14 0.6 4 0.04

51.648 Ht} £ =

+0.008 = 51.648
A AH2] =217} 1 22 = 51.638 0|t




— o] 4 ¢ $H;F 97 0.1 0] 8 ¢l FHT} e 44

10

FoIA 71 2 9k Y e 50 T oA L.

» £
> =g 1.2

oaba 0.4 <[ ]<08
[ 0558 0.77419] Zolck

7]-11—.51/\ 207
7P A2 4 05

wh2hA 0.7 4+ 0.5 = 1.2




(1) 1.334+7.09  (2) 6.52+ 2.71

@ (1) 8.32 (2) 8.13 @ (1) 8.42 (2) 8.23
® (1) 8.32 (2) 9.13 @)(1) 842 (2) 923
® (1) 8.32 (2) 9.33

(1) 1.33 + 7.09 = 8.42
(2) 6.52 +2.71 = 9.23




9. 0.001 °] 2467 Q1 =Kt} 3.675 Z 5 TOHA L.

> E

[> ®eh: 6.142

0.001 ©] 2467 ¢l 4= 2.467 ] 1L
2.467 Bt} 3.675 2 T+ 6.142 o]t}.




10. ©heg uhes] AT AL 124,

(1) 418 -2.34  (2) 4.294 - 3.817

@ (1) 2.84 (2) 0.473 @ (1) 2.74 (2) 0.477
@) (1) 1.84 (2) 0477 @ (1) 1.74 (2) 0.473
® (1) 1.74 (2) 0.477

(1) 4.18-2.34 = 1.84
(2) 4.294 — 3.817 = 0.477




oh. Aol AT A4 BAE BE B kg U7

kg

\4
L

[> HE ' 4205kg

11. fAole QA& 7HANA 11Fu} 2.827 kg T A 1.378kg = 45U

(F7gol7t At o] FA)
= (70te] FA)+(HFAE] FA)
= 2.827 + 1.378 = 4.205(kg)




12.

ohg 440 e oAl

5.281 + 3.55

[ 2
[> =g 8.831

5.281 + 3.55 = 8.831




13. tag HaA AL AS A=AL.

(1) 6.871 + 3.95
(2) 41.26 — 9.872

@ (1) 10.711 (2) 31.378 @ (1) 10.721 (2) 31.388

® (1) 10.811 (2) 31.378 @(1) 10.821 (2) 31.388
® (1) 10.911 (2) 31.378







15. Axt 237t 22 AR H A2 7128 2 A& A2AL,

@ 2.68 +2.576 © 094 +4.17

© 6.213 -1.865 ® 8-2111

® 60-0e@ @606 @ 0e60e
@eoc6e 6 e0eo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 — 1.865 = 4.348

® 8-2.111 = 5.889

£40] 27)% AHQS HBo] 248 A1, A4 PO A4
) A, BA) AL, AR Ahe) 0] 202 2712 Hwgh .
webd Ag 2} A ARH A 1 EE AW ©-0-0-@
o] B},




Qtelli= 0 H8 9 744 ol =25 Holk HUth Al

240] A7])E Hlalste] A2 £5H 7|98 AR £ Ae A2AL,

@ 90.296 © 99.300 © 0D0.158
® 6-0-© @ 6-©-0 ® ©-6-@
® 060 ®eo0

[o
4>
4
o
i
&
fr
%
o,
@
@
©
o
T
iu)




@ 8219 T 5 © 0.082 2] 100 #j<! 5
[e) ]‘ o] XA
© 803 9 - A%
® 6-0-© @ 6-6-0 ®oa-e
@® 0-6-6 ® ©-6-0

@ 0.821
© 8.2

® 0.803

4249 A7 Ay B0 S5 33, AA47L ZoH A4
AR 242, A A, AR 2] 9] o2 3715 B u gt
waba, & 45 22 2 © 8.2, 30.821, © 0.803 YUt}




18. o2 ( )ote] ez EhAlL.
5196 cm = ( km)

> £ km

> el 0.05196km

lem = 0.01m, 1cm = 0.00001 km
5196 cm = (5196 x 0.00001) km = 0.05196 km




19. 1 BT 25 A A2 5 FOIA 44 AR 2] 2ATFT A S
PR R e

B 7N

>
> = 10070

0.007,0.017,0.027, - -+ ,0.997 0| B2 A4 A 2] o)l = 0 HE
9 7HA] 10 7H7F ol & 4 3 &5 A Aok 0 FEH 9
712] 10 A7 B0l 24 4 Y22 = 10x 10 = 100 () YUt




20. Axt 237 7Hg 2 a5 H AEe £ A 2L

@ 0.38+0.84 © 1.84-0.17

®© 047405 ® 1.9-0.62

® 6060 @o0e0e ® 0009
® ©6.00 6 ©6.0,0

~&B

@ 0.38 +0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47 + 0.5 = 0.97

® 1.9-0.62 = 1.28

wabA 0.97 < 1.22 < 1.28 < 1.67 YU th,

Ait A7 2 A2 AHAR 7|32 AW O, @, @, ©YYtt




21. 1.237899] 100 Hj<!

o A 7F?

>

D=

Ch "
| — Y

90 ]

Z=o]| A 1.23789 2] 108} &+

o AL
T T

~&B

=
Rl

1.23789 x 100 — 1.23789 x 10

= 1.23789 x (100 — 10) = 1.23789 x 90
1.23789 2] 100 1 <1
1.23789 2] 90 vl J Yt}

2ol A 1.23789 9]

100 2He

rr

1.23789 2] &




22,

57t 7hE 2§ WA gstel BHE A4 A Ae 4 5 50 o 71

iy

[ 2
> ®E: 51.247

0.
1)

5 ~
50 o 717k a4 Al AH8] 8 THEH 47.521,51.247 o[t}
51.247 — 50 = 1.247, 50 — 47.521 = 2.479
wEbA], FojX =2} FEEE ARSSte] BHE A4 Al 2] 4= F
50 ol 7V 717k 4= 51.247 o]t




23.

S
ot
=
Y
o
o
of
2
{ I'U'll:]
o
|
9
%0,
)Y
i
I
o

== 2 L A FSHA L.

=
=

=

>
[> ®gh: 11.2L

S5 ~
18 — 800mL

78 — 800 x 7 = 5600( mL)

5600mL = 5.6 L

Ag =50 AN =9 F 1 5.6+ 5.6 =11.2(L)




24. 2oV Tiem A §440] A5, o] $4AL Lgtel 78
SPLb o otet 136 om 4 ol U T 1k R 55 37 v
840 ol B & w7t HAEA T,

> £ m

1kg 170 — 136 cm

1kg 370 — 136 x 3 = 408( cm)

w2tA 408 cm = 4.08 m

6m 74cm = 6m + 74 cm

=6m+0.74m

=6.74m

whabA] 844 Zo] & 6.74 + 4.08 = 10.82(m)




oL A Q] 712 Zol= 0.6 mol L, A2 Zol=0.3m YUt o]
AAZFE o] 712 Ao)E 0.24m E0]1, A2 do]=0.34m Ut
A2 S| A o] Eale d mr} 5 AE2] oA L

> =

> =g 2m

=

~&B ~

(M=ZL 712 Zo])= 0.6 — 0.24 = 0.36( m)
M= A= 4 ]) 0.3+ 0.34 = 0.64(m)
(M= 5ol A 9] 8] Aol)
= 0.36 + 0.36 + 0.64 + 0.64 = 2(m)




